~

RIL R 00 S 48 2k 13 4 #3388

ENII = iy e FHE M H o

rar € xme /¥

1. Evaluate each of the followings. ( 7% each)

5 N d .
() For x"+y'-2x*»? =9, find Z{)—/ and evaluate itat x =2,y =1.
X
2. Evaluate the double integral. (9% each)

(a) He(y+x3 Inx)dd; R = {(x,y):1<x<2,0< y< I}

(b) Evaluate J;Z(J:xe"’zdy)dx

3. (10%) If x thousand dollars is spent on labor and y thousand doll
is modeled by

O, ) = 30x'" ™"
Units. Assume that there is $120,000 available. Use Lagrage multipliers to all
equipment to make the largest production.

4. (10%) Find the relative extreme values of
f(x,py)=x* +y? -6x-12y
5. (10%)A cylinder is measured to have radius r and height h, but these me

Estimate the resulting percentage error in calculating the volume of the cylinder.
6. (10%) Find the area between the curves y=12-3x2
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ars is spent on equipment, the production function

asurements may be in error by up to 1%.

and y=4x+5 from x=0 to x=3

ocate money between labor and
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